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B.A.-7569-G   [ ¬ÛÀ¬ı˛¬ı˛ ¬Û‘á¬±˚˛ ^©Ü¬ı… B.A.-7569-G 

¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  ( Term End Examination )  

øÎ¬À¸•§¬ı˛, 2015 › Ê≈√Ú, 2016 

Ê√Úõ∂˙±¸Ú ( Public Administration ) 
‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective ) 

Ó‘¬Ó¬œ˚˛  ¬ÛS ( 3rd Paper : Indian Thinkers )             
¸˜˚̨ – ‰¬±¬ı˛ ‚KI◊±¬ Û”Ì«̃ ±Ú – 100 
Time : 4 hours Full Marks : 100 

[ ˜±ÀÚ¬ı˛ &èQ – 70% ] 
Weightage of Marks : 70% 

¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 
mistakes, untidiness and illegible hand writing. 
The figures in the margin indicate full marks. 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 20 × 2 = 40 

 [fl¡] Œfl¡ÃøÈ¬˘… fl¡Ó‘«¬fl¡ ¬ıøÌ«Ó¬ ¬ı˛±À©Ü™¬ı˛ ¸±Ó¬øÈ¬ ∆¬ıø˙À©Ü…¬ı˛ 
ø¬ıÀù≠ ∏̄Ì fl¡èÚº 

 [‡] ≈̆Ô±¬ı˛ &ø˘Àfl¡¬ı˛ ¸—·Í¬Ú ¸—Sê±ôL ÚœøÓ¬&ø˘¬ı˛ ¤¬ı— 
õ∂˙±¸øÚfl¡ ¸—¶®±¬ı˛ ¸—Sê±ôL ¬ıMê√¬ı…&ø˘¬ı˛ ”̃̆ …±˚˛Ú 
fl¡èÚº   

 [·] ¬ı±Ì±«Î«¬ ¸±—·Í¬øÚfl¡ Œ˚±·±À˚±À·¬ı˛ Ê√Ú… Œfl¡±Úƒ Œfl¡±Úƒ 
Î¬◊¬Û±√±ÚÀfl¡ &èQ ø√À˚̨ÀÂ√Ú ¤¬ı— Œfl¡Ú ∑ 

 [‚] õ∂˙±¸Ú ˙±À¶a ¸±˝◊√√̃ Ú Œ˚ &èQ¬Û”Ì« Ò±¬ı˛Ì±&ø˘¬ı˛ 
’¬ıÓ¬±¬ı˛Ì± fl¡À¬ı˛Ú, Œ¸&ø˘ ’±À˘±‰¬Ú± fl¡èÚº 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ øÚ – 12 × 3 = 36  
 [fl¡] Ê√Úõ∂˙±¸Ú ‰¬‰¬±«˚˛ ’±¬ıĮ̂¬◊̋ ◊√√Àfl¡¬ı˛ ’¬ı√±Ú ¬ı…±‡…± fl¡èÚº 
 [‡] Ê√Úõ∂˙±¸ÀÚ ø¸X±ôL¢∂̋ √√Ì ¸•ÛÀfl«¡ Ó¬N&ø˘ fl¡œ fl¡œ ∑  
 [·] ¤˘È¬Ú Œ˜À˚˛± ’Ú±Ú≈á¬±øÚfl¡ ¸—·Í¬Ú ¬ı˘ÀÓ¬ fl¡œ    

¬ı≈øÁ¡À˚̨ÀÂ√Ú ∑ 
 [‚] Ê√Úõ∂˙±¸Ú ˙±À¶a Œ˜ø¬ı˛ ¬Û±fl¡±«¬ı˛ ŒÙ¬±À˘ÀÈ¬¬ı˛ ’¬ı√±Ú 

’±À˘±‰¬Ú± fl¡èÚº 
 [„√√] Œ˝3√√¬ı±À¬ı˛¬ı˛ fl¡Ó‘«¬Q › ∆¬ıÒÓ¬±¬ı˛ Ò±¬ı˛Ì± øfl¡ˆ¬±À¬ı 

¸˜±À˘±ø‰¬Ó¬ ˝√√À˚̨ÀÂ√ º 
 [‰¬] Œfl¡ÃøÈ¬˘… Œ˚-¸¬ı  õ∂˙±¸øÚfl¡ ø¬ıˆ¬±·Àfl¡ &èQ¬Û”Ì« ˜ÀÚ 

fl¡À¬ı˛øÂ√À˘Ú, Œ¸&ø˘¬ı˛ ¬ıÌ«Ú± ø√Úº 
3º  Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬  õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú  – 6 × 4 = 24  
 [fl¡] ’±˜˘±Ó¬ÀLa¬ı˛ øÓ¬ÚøÈ¬ ∆¬ıø˙À©Ü…¬ı˛ Î¬◊À~‡ fl¡èÚº  
 [‡] ¸±À¬ıøfl¡ fl¡Ó‘«¬ÀQ¬ı˛ ’Ô« fl¡œ ∑   

 [·] ŒÙ¬˚˛À˘¬ı˛ ˜ÀÓ¬ Œ˚-Œfl¡±ÀÚ± ø˙ä ¸—·Í¬ÀÚ¬ı˛ Â√íøÈ¬ fl¡±Ê√ 
fl¡œ fl¡œ ∑ 

 [‚] ŒÈ¬˘¬ı˛ ¡Z±¬ı˛± ¬ı˛ø‰¬Ó¬ øÓ¬ÚøÈ¬ ¢∂ÀLö¬ı˛ Œfl¡fœ˚̨ ¬ıMê√¬ı…&ø˘  
fl¡œ fl¡œ ∑ 

 [„√√] ∆¬ı:±øÚfl¡ ¬Ûø¬ı˛‰¬±˘Ú± ¸—Sê±ôL øÓ¬ÚøÈ¬ ¸±Ò±¬ı˛Ì ÚœøÓ¬¬ı˛ 
Î¬◊À~‡ fl¡èÚº  

 [‰¬] ’±˜˘±Ó¬ÀLa¬ı˛ ¶ö±ø˚˛Q ¬ı˘ÀÓ¬ fl¡œ Œ¬ı±Á¡±˚˛ ∑ 
 [Â√] ’±˜˘±Ó¬La ¸•ÛÀfl«¡ ˜±À'«¬ı˛ fl¡œ Ò±¬ı˛Ì± øÂ√̆  ∑  
 [Ê√] ¸±˝◊√√̃ ÀÚ¬ı˛ ø¬ıfl¡ä ’±‰¬¬ı˛Ì¬ı±√œ Ó¬ÀN¬ı˛ øÓ¬ÚøÈ¬ 

¸˜±À˘±‰¬Ú± ø˘‡≈Úº 
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1. Answer any two questions  : 20 × 2 = 40 
 a) Analyse the seven features of the state 

as described by Kautilya. 
 b) Express the arguments of Luther 

Gullick regarding organisational 
principles and administrative reforms.  

 c) Which elements of organizational 
communication have been emphasised 
by Barnard and why ? 

 d) Discuss the important concepts as 
introduced by Simon in administrative 
theory. 

2. Answer any three questions : 12 × 3 = 36 
 a) Explain the contribution of Urwick to 

the study of Public Administration. 
 b) What are the theories of decision 

making in Public Administration ?   
 c) What does Elton Mayo mean by 

informal organization ? 
 d) Discuss the  contribution of Mary 

Parker Follett to the discipline of Public 
Administration. 

 e) How have the Weberian concept of 
authority and legitimacy been        
criticized ?  

 f) Describe the administrative branches 
held as important by Kautilya. 

3. Answer any four questions : 6 × 4 = 24 

 a) Mention three features of bureaucracy.  

 b) What is the meaning of traditional 

authority ? 

 c) What, according to Fayol, are the six 

important functions of an industrial 

organisation ? 

 d)  What are the central thrusts of three 

books written by Taylor ?    

 e) Mention three general principles 

relating to Scientific Management. 

 f) What do you mean by stability of the 

bureaucracy ? 

 g) What was the view of Karl Marx on 

bureaucracy ?    

 h) Write three criticisms of the Alternative 

Behaviour Model of Simon.  
    


